Supply Contract - 供应合同

No: SC-106911200026

Date: 26/10/2020

This contract executed and entered into this 26th day of October,2020 Between:

Seller - 卖方

W OUTLUX

Buyer - 买方

NINGBO OUTLUX ELECTRICAL CO., LTD Reference Name - 参考名称: OUTLUX

宁波欧陆克电器有限公司

Address - 地址: No.1 Hetou Rd.Hengxi,Ningbo,china

地址:浙江省宁波市鄞州区横溪镇金溪村 Contact Person - 联系人: Jason Email - 电子邮件: sales18@outlux.cn Tel - 电话号码: 0086-15757492205

Bank Account

The following is our USD account:

Beneficiary: NINGBO OUTLUX ELECTRICAL CO., LTD

Bank Name: BANK OF NINGBO

Bank Address: NO.345 NINGDONG ROAD, NINGBO,

ZHEJIANG, P.R.CHINA 315042

Account Number: 53102025000002437

Swift Code: BKNBCN2N

ATC MIDDLE EAST FZCO Reference Name - 参考名称: ATC

Address - 地址: JAFZA One, 11th Floor, Jebel Ali Free Zone , Dubai, UAE

Contact Person - 联系人: Echo Chan Email - 电子邮件: echo.c@atclighting.co Tel - 电话号码: 008615018796671

Supply Contract Summary

Total Amount Total Volume

\$ 85,601 38.10 m³

Seller Signature & Stamp 宁波堡房签名和盖章有限公司 NINGBO OUTLUX ELECTRICAL CO., LTD.

宗 张沙





T	买家物品 编号	图片	描述	数量	数量/箱	箱	箱子尺寸	体积	单价	总体积	总额
ŧ -	Buyer Item Number	Photo	Description	QTY	QTY /CTN	CTN	CTN Size (cm)	Volume	Unit Price	Total Volume	Amount
1	AS30147-A (RFE-0267A)		Anis - Floodlight 100watt 3000K - CRI 70 8000Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W297 x L242 x H32mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 1540g - Warranty 3years Certified CB	500	5	100.00	L31.2 x W21 x H26.2	0.02m³	\$8.45	2m³	\$4225
2	AS60148-A (RFE-0266A)		Anis - Floodlight 100watt 6000K - CRI 70 8500Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W297 x L242 x H32mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 1540g - Warranty 3years Cartfled C8	1600	5	320.00	L31.2 x W21 x H26.2	0.02m³	\$8.45	6.4m³	\$13520
3	AS60148-B (RFE-0266A,)		Anis - Floodlight 100watt 6000K - CRI 70 8500Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W297 x L242 x H32mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 1540g - Warranty 3years Non CB	80	5	16.00	L31.2 x W21 x H26.2	0.02m³	\$8.45	0.32m³	\$676
4	AS30133-A (RFE-0261A)		Anis - Floodlight 10watt 3000K - CRI 70 800Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W127 x L120 x H23mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 250g - Warranty 3years Certified CB	6300	60	105.00) L40.4 x W31 x H28.4	0.04m³	\$1.27	4.2m³	\$8001
5	AS30133-B (RFE-0261A,)		Anis - Floodlight 10watt 3000K - CRI 70 800Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W127 x L120 x H23mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 250g - Warranty 3years Non CB	420	60	7.00	L40.4 x W3 ⁻¹ x H28.4	0.04m ³	\$1.27	0.28m³	\$533.4
6	AS60134-A (RFE-0260A)		Anis - Floodlight 10watt 6000K - CRI 70 850Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W127 x L120 x H23mm White / Aluminum (Housing) transparent / Glass (Front Cover) - 250g - Warranty 3years Certified CB	330	60	55.00	L40.4 x W3 x H28.4	1 0.04mi	3 \$1.27	2,2m³	\$4191
7	7 (RFE-0260A,)	Ę	Anis - Floodlight 10watt 6000K - CRI 70 850Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W127 x L120 x H23mm White / Aluminum (Housing) transparent / Glass (Front Cover) - 250g - Warranty 3years Non CB	42	0 60	7.00	L40.4 x W3 x H28.4	¹ 0.04m	3 \$1.27	' 0.28m	\$533.
8	AS30139-A (RFE-0263A)		Anis - Floodlight 30watt 3000K - CRI 70 2400Lumen 0.8PF - Beam angle 120° - 176 - 265V Rectangular W185 x L158 x H25mm White / Aluminum (Housing) transparent / Glass (Front Cover) - 485g - Warranty 3years Certified CB	- 000	20 20	101.0	L33.6 x W3 x H20.5	0.02m	1 ³ \$3.00	5 2.02m	3 \$616







	买家物品 编号	图片	描述	数量	数量/箱	箱	箱子尺寸	体积	单价	总体积	总额
#	Buyer Item Number	Photo	Description	QTY	QTY /CTN	CTN	CTN Size (cm)	Volume	Unit Price	Total Volume	Amount
9	AS60140-A (RFE-0262A)	20.	Anis - Floodlight 30watt 6000K - CRI 70 2550Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W185 x L158 x H25mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 485g - Warranty 3years Certified CB	3000	20	150.00	L33.6 x W34 x H20.5	0.02m³	\$3.05	3m³	\$9150
10	AS30145-A (RFE-0265A)		Anis - Floodlight 50watt 3000K - CRI 70 4000Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W230 x L195 x H30mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 820g - Warranty 3years Certiled CB	500	10	50.00	L39 x W24.5 x H21	0.02m³	\$5.05	1m³	\$2525
11	AS60146-A (RFE-0264A)		Anis - Floodlight 50watt 6000K - CRI 70 4250Lumen - 0.8PF - Beam angle 120° - 176 - 265V Rectangular W230 x L195 x H30mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 820g - Warranty 3years Certified CB	2000	10	200.00	L39 x W24.5 x H21	0.02m³	\$5,05	4m³	\$10100
12	SA40298-A	0	Sari - High Bay LUMILEDS LED 150watt 4000K - CRI 70 12000Lumen - 0.9PF - Beam angle 90° - 175 - 265V Round D310 x H88mm BLACK / Aluminum (Housing) - 2100g - Warranty 3years Certified CB	100	5	20.00	L40.5 x W32.2 x H32.7	0,04m³	\$17.5	0.8m³	\$1750
13	SA60268-A (RFE-0159B.)	0	Sari - High Bay LUMILEDS LED 150watt 6000K - CRI 70 12750Lumen - 0.9PF - Beam angle 90° - 175 - 265V Round D310 x H88mm BLACK / Aluminum (Housing) - 2100g - Warranty 3years Certified CB	850	5	170.00	L40.5 x W32,2 x H32.7	0.04m³	\$17.5	6.8m³	\$14875
14	SA40300-A	0	Sari - High Bay LUMILEDS LED 200watt 4000K - CRI 70 16000Lumen - 0.989PF - Beam angle 90° 175 - 265V Round D360 x H93mm BLACK / Aluminum (Housing) - 2874g - Warranty 3years Cartified CB	100	5	20.00	L42 x W37.2 x H37.7	0.06m³	\$23.4	1.2m³	\$2340
15	SA60301-A (RFE-0165B.)	0	Sari - High Bay LUMILEDS LED 200watt 6000K - CRI 70 17000Lumen - 0.989PF - Beam angle 90° 175 - 265V Round D360 x H93mm BLACK / Aluminum (Housing) - 2874g - Warranty 3years Certified CB	300	5	60.00	L42 x W37.2 x H37.7	0.06m ³	\$23.4	3.6m³	\$7020
Tota			Eighty Five Thousand Six Hundred Or	ne On	ly				-	38.1m ³	\$85,60

Terms & Conditions

General







- 1. For Flood light: Mold fee 125,000RMB for open mold 10W 30W 50W 100W Fitting, 50% mold fee should pay as deposit, 40% mold fee should pay when mold been finished and sample confirmed; 10% should pay before load all the qty of first order.
- 2. For Flood light: For the mold fee will be return base on the percentage of order amount each time, when the order amount reach 850,000USD will return the whole mold fee.
- 3. For Flood light: The mold should open base on Buyer's design, weight different should within 10% (Subject to actual sample); the fitting can be work for reflector(beam angle 120°) or reflector(beam angle 90°); the fitting with spiracle; the hook should be 360° rotate.
- 4. For Flood light:PCB should add buy's logo
- 5. Transfer and confidentiality: the seller has no right to transfer this contract, the seller and buyer both sides must abide by the contract, shall not be foreign to expose the contract content, such as has occurred, a responsibility shall be investigated for the other party.
- 6. The goods of this contract products is seller produce according to the buyer's brand, the seller shall not be entitled to the finished product sales to a third party without authorization.

Logistic

1. PORT OF LOADING: FOB Ningbo, for LCL shipment buyer will pich up the goods to Foshan, buyer will pay the logistics cost and seller will pay the local cost base on CBM if load the container in Guangdong province.

Technical

- 1. All items should pass CB and IECEE, if can not pass CB and IECEE, Seller should take all the responsibility which cause by this. And Seller will responsible for all the cost which should pay in China for make CB and IECEE, Buyer will responsible for all the cost which should pay in Saudi Arabia for make CB and IECEE and energy efficiency. (Base on each certification which we got.)
- 2. Wire: color, wire diameter, line length, ground line, line mark should can be pass CB certification
- 3. Material:Aluminium+dull polish anti-explosion glass, Fitting Color:white, Outlux LED, Epistar Chip, SMD2835 1W/PCS, DOB Outlux Driver, Yageo Capacitor, 10W PF:0.8, others PF:0.9, CRI/RA>70, AC176V-265V 50/60Hz, Beam angle:120°, IP65, working temperature:-40~+50°C, lifespan:50000h
- 4. Power: Stable power less than 10% tolerance
- 5. Color temperature: White 6000K color temperature for each batch can not more than 500K ,Warm white 3000K color temperature for Each batch can not more than 300K , with last batch and same batch.
- 6. Seller must make sure the goods matched with Buyer standard, the quality will base on contract and sealed sample.
- 7. For repeat order, Seller can not change any material without Buyer's confirmation. If the compents are updated, the seller will provide samples to the buyer for comfirmation before production, if no, buyer will not pick up the goods and seller must return the full amount deposit.
- 8. High bay:Material:Aluminum,Fitting Color:black,Outlux LED, Lumileds Chip, SMD2835,DOB Outlux Driver,Yageo Capacitor,PF:0.9,CRI/RA>70,AC175V-265V 50/60Hz,Beam angle:90°,IP65,working temperature:-40~+50°C,Iifespan:50000h

Delivery & Payment

- 1. Delivery time: March, 30th, 2021.
- 2. Deposit 20% in advance, 80% balance will be ship againest documents. If Port of loading isn't Ningbo, Deposit 20% in advance, 80% balance payment before shipment.

Production & Packaging

Seller Signature & Stamp 公司 NINGBO OFFICE LEURICAL GO., LTD.





- 1. Product can not have any seller's information or inspect mark or Chinese
- 2. Package requirement subject to first order packing. The design of the color box is the same as the previous order. If the color box is updated and the quantity of per item (like RFE-0260A) does not reach 1000PCS, an additional plate making fee-\$285 per item will be charged.

Warranty & Inspection

- 1. Product inspection:when Buyer inspect the goods by count/weight/try to assemble/visual appearance/Test by machine and so on. If find any part not meet the contract requirement or have quality problem, seller and buyer negotiated to resolve, if not resolved, seller have to return full amount deposit.
- 2. Guarantee 3 years, if any defective happened from product quality problem, seller will replace the whole light free of charge and bear the international shipping cost.
- 3. All parameters are subject to samples which buyer confirm and the sample specification will follow the contract.

--- The End ---

